Divide by 0.001 (G)

Find each quotient.

23 +0.001 = 18 +0.001 =
81+ 0.001 = 92 +0.001 =
97 = 0.001 = 44 =+ 0.001 =
99 =~ 0.001 = 26 +-0.001 =
48 - 0.001 = 23 +0.001=
13 +0.001 = 7 +0.001 =

77 =+ 0.001 = 24+ 0.001 =
34+ 0.001 = 83 + 0.001 =
75 +0.001 = 2-+0.001=

31+ 0.001 = 46 = 0.001 =
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Divide by 0.001 (G) Answers

23+ 0.001 = 23,000

81+ 0.001 =81,000

97 +0.001 =97,000

99 = 0.001 =99,000

48 - 0.001 = 48,000

13 +0.001=13,000

77 = 0.001 =77,000

34 + 0.001 = 34,000

75 +0.001 = 75,000

31+ 0.001 =31,000

Find each quotient.

18 +-0.001 = 18,000

92 <+ 0.001 =92,000

44 =+ 0.001 = 44,000

26 =~ 0.001 = 26,000

23 +0.001 = 23,000

7 +0.001 =7,000

24+ 0.001 = 24,000

83 + 0.001 = 83,000

2+0.001=2,000

46 - 0.001 = 46,000
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